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MATHEMATICAL METHODS Units 3 and 4
EXAMINATION 1 — ANSWERS & SOLUTIONS

SECTION A:

1
)
- ’AR"/ -ast Pacers arz oC 1GAT
‘ and may not se re.;rcﬂ_cw:l |
i in whcie or in part

TOBER 2C07

MULTIPLE CHOICE QUESTIONS

1. D 112. D 23. B }
2. E | 13. B 24. E %
S 13D = A ;
4. D 13, A 26. D §
5. A 16. E 27. C |
6. E 17. B 28. B |
7. C 18. C 29. D g
8. E 19. D 30. A i
3. B 0. A 31. B |
10. B 21 D 32. E
11. B 33 A :
SECTION B SHORT ANSWER QUESTIONS
QUESTION ! QUESTION 4
A FT3w ) — R Fix) =loge (- 3) Hoov=ix= 57 -20
B . e x iy PointA ¢ -G .-11) PointB (-4.-16)
i l1)Shadsc Area = (-2 =20— (x+6)° 0)edx
as
i = == units®
: &
QUESTION - "QUESTION 2
3 Aread =T A D =—=2m - m_oz= i
Tl ; 5 2 3
by 2x° —2x1 =3 "_'-__’.,v— ¢ ? 2 =3m=-2=10
- | 1
.. s 3.‘( .\'3 ': m = —1
Sy Volume V= X721 = T i X 4
T i EX) =22
' /"I 3 s‘t: O 1 h 1 S ‘ '
2 =0, -—=0,x=zx = -
Max Volume: o 22 iii) Pr ( > 2X €2)=Pr(X=2) == - e
; i = 13 ?r()(42>
} Max Volume = V(1) =1m A |
QUESTION 3 Sclving for & -axis intercepts: QUESTION 6 < = 9.35
>m|(’c’ i **1 -0 intheinterval0<8<27 Mean value t = 53,000
L 5) Standard deviation o = 3500
FANEES .7 1
sin| 280+ — i =—, where sin— = — _ _so
( 3) 2 6 2 a) Pr (X<$2,500): Z=""£ = > 0 _ 05556
e o
4 salutxon:.{f[ <26+ -/:‘— <dz+ E} Pr(Z <-0.5556) = 1- Pr(Z<0.5536)
> 3 3 =1-0.7107
20+ % 77 11z 197 237 = 02893
oL 22 Z 2 ot
T T 86 6 6 29%
& A Itr 21=
29 = - > ’ x_'/J
6 6 6 6 b)Pr | Z < =0.8
57} Bz &7 287 o A
FERFERSENE _____x—gzgo = 0.8416
{ 1% '77r
al ’éz o4 x=%3,757.46
12 12 4




